EEREYVOSFIRAMIFER2017EE

2018528 WEZHEE

G e DN % o EREEES =

—  h& — iR =&t 2,557,605 45012 598,708 2,003,909

RS 6,326,668 0 0 6,326,668
a8 O 8,884,273 45,012 598,708 8,330,577
FL4ER | BASE 925,797 5 25,792 900,010
RS 6,209,023 0 0 6,209,023
& FHO 7,134,820 5 25,792 7,109,033
BRasl | BHEERS 2,080,220 0 0 2,080,220
& iH® 2,080,220 0 0 2,080,220
& &t D+@+B 18,099,313 45,017 624,500 17,519,830
Bt B =i %

— £ E 20182 H28H
B B R 17 £ OFES B &
B £ 161,477
LEEE | =HERBITEEIRAIRE (3406748 1,540,432
BELE [FSUIL—L 144,000
EXx & A 144000
IEE 302,000|%& 5 &4 3t
xR £ 0
xiLE 0
BY & 0
N it a 2,003,909 & £ &)
FEILH
EHEE [=HERBITERRIIXZE 536486830 3,325,489
EHESE [=HEFRBITERIRAIZE  [53648683@ 1,000,797
EHEE [=HERPBITERRIIXZE 536486830 1,000,297
EHTEE [ZHEFRIBITERERAIZIE  [53648683@ 1,000,085
IN Bt b 6,326,668 & i1 &)

& i D (atb) 8,330,577
EERRE
B B R 1T £ OFEES &= 28 iw &

I 66,148
LEEE |=SHEKREBITERRAIZE 3406730 833,862
N =t a 900,010 & & 2
@EILH
EHEE |SHERBITERRIZE 539008120 4,208,789
EHESE [=HEFRIBITERERAIZE  [539008120 500,149
EHEE [=HERIBITERIRAIZE  [53900812Q 1,000,085
EHTES [ZHEFRIBITERERAIZIE  [53900812@) 500,000
N B b 6,209,023 & i1 &)

& B @ (ath) 7,109,033
B x5t
B B iy 1T £ OFEES H &
EHEEES 2,080,220

LEHEE |ZZERRURRITEEREXIE 3707276 80,220

EHEE |ZERFRUFRITEEXIE 3707276-026 2,000,000
O 2,080,220

@




20185 2H — i SETINZREE

BT FIRAMEFRR

IR A O
18 E IR% FHEE A RKS L AURA LAERS i =
2 E R A [ 6,206,000 ][{ 3,062,500 ]|[ 0]][ 3062500 ]
ZEHFRE 5,775,000 2,887,500 0 2,887,500
YEEFERE 225,000 75,000 0 75,000
FEEAESE 140,000 70,000 0 70,000
B B = & 6,000 0 0 0
y=EHAE 60,000 30,000 0 30,000
EHE M IRA 0 [ 0 [ 0]|[ 0]
SV KRS EHFHA) 0 0 0 0
IVEVEN -5 555 () 0 0 0 0
X K= B8 (A 0 0 0 0
h X K=& 5 (B) 0 0 0 0
SHEFHH 0 0 0 0
Z DAt B FH 0 0 0 0
B Wt A [ 510,100 J[{ 234,120 ]|[ 45012 ]|[ 279,132 ]
fE & U A 10,000 1,300 0 1,300
AR EIRA 0 0 0 0
A F U A 100 0 12 12
x O i 500,000 232,820 45,000 277,820 |~ =T#E33.000 KF LT 112,000
Y & 0 0 0 0
#OSTHRERBAE |( 0 [ 0 [ 0]|[ 0]
1B S HAR [ 0 [ 0 [ 0]|[ 0]
N & [C 6,716,100 )[( 3,296,620 )|( 45,012 )| ( 3,341,632)
IR EEIRE 1,468,831 1,468,831 0 1,468,831
IR A & & 8,184,931 4,765,451 45,012 4,810,463




EEYOSFIAMIFR

20185F2 F — R EFHINZHRESE
X H D HR 20175 98 1B ~ 201848H31H (Hfi:[M)
15 ] N FEEE AAKS LAXH L A%S it =
NX H £ & [ 991,920 ][ 609,982 ([ 0)[[ 609,982 ]
IPE /E =58 585,000 585,000 0 585,000
W EEERE 30,000 15,000 0 15,000
2 B 5 £ & 336,960 0 0 0
BHEEFEEE 15,360 9,409 0 9,409
ES I A ¢ 24,600 573 0 573
2)8 & #H [ 583400 ][ 150,000 J{[ 300,000 J|[ 450,000 ]
EBRREEHBNERE 59,400 0 0 0
YoV RS BHEH A 164,000 0 160,000 160,000 |4,0001 x 404
Yoav A& EHHB) 100,000 0 72,000 72,000 [4,000M x 184
R KR E 5 (A 80,000 78,000 0 78,000
X K& &84 (B) 80,000 72,000 0 72,000
SR 2 EHH 100,000 0 68,000 68,000 [4,000M x 174
Yoa e Z ik 0 0 0 0
3E B B [ 4116340 J|[ 1447864 )| 298,708 J[[ 1,746,572 ]
Z2 2 £ H (2,670,340 )| (1,064,937 )|( 157,008 ) [( 1,221,945 )
Bl & =5 1,500,000 558,034 103,119 661,153 [2A#HI=
= B B 240,000 79,602 7,594 87,196 |BEER
T KB & 150,000 29,392 3,938 33,330 |¥v/UBR5E
BN R’ & 100,000 57,024 0 57,024
B E & 10,000 6,500 400 6,900 |Ek¥
x B & 100,000 25,000 5,000 30,000 |EFEHBANE
# & 15,000 2,160 1,512 3,672 |#RAett
E = # 425,340 177,225 35,445 212,670 |FSUOI—L3A S -Ve—TT74FVA
E 5B B 130,000 130,000 0 130,000
£E B £ & (_650,000)|(  332,927)|( 17,700 ) [ 350,627 ) [* 1
B A FEE £ E | 40,000 ) | ( 0)]¢ 20,000 ) | ( 20,000 ) [EHEZRAS
A amEAE | 15,000 ) | ( 0)]( 0)|( 0)
= B X 17 & (( 0)]( 0)]( 0)]( 0)
HOSTRIE ( 5,000 ) | ( 0)[( 0)]( 0)
OSSR E ( 0)]( 0)]( 0)]( 0)
K %= & & HFH |(  3836000)|( 0)]( 0)]( 0)
B X = 0 0 0 0
2 B X £ 300,000 0 0 0
yoary X £ 36,000 0 0 0
#h X XK = 0 0 0 0
ZTRHDKEFEER [ (400,000 ) |( 50,000 ) | ( 104,000 ) | ( 154,000 )
S K EH 50,000 50,000 0 50,000
Z D1t 350,000 0 104,000 104,000 [SHR-SHEE-SIE=-SIZBHTH
HFE M & [ 0 ]|[ 0 ]|[ 0 ]|[ 0)
kN 3= WY 0 0 0 0
[ v % 0 0
S)EHHAKHESHEA[ 1,500,000 ][ 01|( 01|( 0]
0
U\ &t (__7191660)(( 2207846 )[( 598708 )[( 2,806,554 )
6)% i & [ 993271 ]|[ 0 J{[ 0 J{[ 0]
X H & Et 8,184,931 2,207,846 598,708 2,806,554
R I 0 2,557,605 A 553,696 2,003,909
* 1 LM% 5,780 LR 5454 Z=/T:4,266 7'J—F:2200

®




20182 A FH BRI ST HRESE

IR A D &8 B 201749A1H = 20184%8H31H
£} = X% ¥ AR AA%S L AURA LAKS i =
F £ A 0 0 0 0
R & IR A 0 0 0 0
— R EFINA 1,500,000 0 0 0
AL IA 0 0 0 0
t 4z A 100 0 5 5
EHEEXEASEE 300,000 0 0 0
N &t 1,800,100 0 5 5
BIAIREE R E 1,542,797 1,542,797 0 1,542,797
IR A & &t 3,342,897 1,542,797 5 1,542,802
X H D & (B F)
18 =] IR% T EE&E BIAES =A% LAKS i =2
B M 1,000,000 406,000 10,000 416,000 | R HHEEL B 54—
EhExE 1,500,000 208,840 15,576 224416| FRFEPESE
i =4 8,000 2,160 216 2,376 | HRA FHUk 1 {4
B PiRESRT 0 0 0 0
EHERESET 0 0 0 0
BT & 0 0 0 0
/I &t 2,508,000 617,000 25,792 642,792
¥ K= 834,897 0 0 0
X i & &t 3,342,897 617,000 25,792 642,792
= 5 # xR & 0 925,797 A 25,787 900,010




